
Application of Two CLIP function





NTT CLIP: 477-1001
BT CLIP : 123-1001

Customer request operation

Application of two CLIP function - 1

Making a call to a subscriber in Japan, CLIP should be 477-1001
Making a call to a subscriber in UK, CLIP should be 123-1001

VoIP-Net
JapanUK

BT NTT

Subscriber in Japan

CLIP: 123-1001

CLIP: 477-1001

123-1001 477-1001

Subscriber in UK

IP-GWIP-GW



Application of two CLIP function - 2

VoIP-Net
JapanUK

BT NTT

Subscriber in Japan
03-1111-2222

Subscriber in UK
01633-653-1000

CLIP: 123-1001

CLIP: 477-1001

123-1001 477-1001

Dials
0-03-1111-2222

Dials
0-00-44-1633-653-1000

Use the two CLIP function with ARS.
Recommend Solution

IP-GWIP-GW
ARS

1st CLIP : 477-1001
2nd CLIP : 123-1001





BT CLIP (2nd CLIP: ARS calls)

NTT CLIP (1st CLIP : Normal calls)

Application of two CLIP function - 3
Program -1 



Application of two CLIP function - 4

Program -3

ARS=ONProgram -2 

Dial to UK ➔ Routing Plan -1 ➔ Carrier-1

Other call is non ARS call ➔ Normal call



Application of two CLIP function - 5
Program -4 (Important program) 

Add “X” or “x” as the 20th character in the carrier name.





An external call is made

The character of the last of a 
Carrier name is X? 

ARS call? (Hit ARS table)

No

No

Yes

Yes

Application of two CLIP function - 6

CLIP Selection Scenario 

2nd CLIP1st CLIP


